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Scales correct
12 correct points plotted within
1mm

Smooth curve through all
points

Tangent drawn at (3, 3)

Attempts CTE8SEINY or their
increaseinx
tangent

0.6 to ~1.0 www

Correct straight line ruled and
complete for range 0 to 8

12=8x+8-x—xo.e. seen
X-Tx+4=0

x=0.5,0.6,0.7 or 0.8
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If not labelled, mark in order
given

To 11 horizontally and 12 V
vertically are possible

P2+ for 10 or 11 correct.
P1+ for 8 or 9 correct.

Within % small square, none
ruled, correct shape.

Allow a parallel line below curve,
slight chord, but not an intended
chord

dep. on T1. If no working must
fit tangent acc (0.1) for 1 cm
horizontally

If correct method shown allow
answer in range even with slight
slip.

B1 for any straight ruled line
with y-intercept 8 (except y = 8)
or gradient —1

Must be seen to expand the
brackets correctly

Must be correct for their graph
(1 mm)
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Their 7 points plotted correctly (within
1mm and in the correct square)
Smooth curve through all 7 points
(1mm)

27510285
0

Tangent drawn at x = 1.5

Uses increase in y (using scale)
increase in x

171022

Correct ruled straight line (complete
for range 0 to 4)

Correct for theirs(+0.05) dep. on at least
SC1in (f)
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17

Must be seen. No feedback from graph.
If not labelled, must be in order

xfrom -2 o 4. yto accommodate their values.
ft P2 for 6 points correct.

P1 for 5 points correct.
ft provided correct shape maintained

Not a chord and no daylight
Dep on T1 or a near miss (not chord or clearly
drawn at x=1or x=2)

If correct method seen, condone any answer in
range, even with a slight slip

SC1 for freehand complete line o any ruled
line of gradient 2 or y-intercept of 1 (not y=1)

SC1 if y-coordinate also given or x=0 also
given (or both)






